13 : CHAPTER

Linear Stochastic Models

Stationary Stochastic processes

A temporal stochastic process is simply a sequence of random variables
indexed by a time subscript. Such a process can be denoted by z(t). The
element of the sequence at the point t = 7 is x, = (7).

Let (1) = [Tr41, %742, .., Zr4+n) denote n consecutive elements of the
sequence. Then the process is said to be strictly stationary if the joint proba-
bility distribution of the elements does not depend on 7 regardless of the size
of n. This means that any two segments of the sequence of equal length have
identical probability density functions. In consequence, the decision on where
to place the time origin is arbitrary; and the argument 7 can be omitted. Some
further implications of stationarity are that

(1) E(xy) =p<oo forall t and C(@rys,Tris) = Y—s|-

The latter condition means that the covariance of any two elements depends
only on their temporal separation |t — s|. Notice that, if the elements of the
sequence are normally distributed, then the two conditions are sufficient to
establish strict stationarity. On their own, they constitute the conditions of
weak or 2nd-order stationarity.

The condition on the covariances implies that the dispersion matrix of the
vector & = [x1,Za,...,Z,) is a bisymmetric Laurent matrix of the form

D(z) = B{[z - E(2)]lz - E(2)]'}

Yo 7 V2 cee In—1
(2) 4! Yo 4! cee Tn—2
= 72 4! Yo -or Tn-=3

Tn—1 TYn—-2 Yn-3 --- Yo

Given that a sequence of observations of a time series represents only a
segment of a single realisation of a stochastic process, one might imagine that
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there is little chance of making valid inferences about the parameters of the
process. However, provided that the process z(t) is stationary and provided
that the statistical dependencies between widely separated elements of the se-
quence are weak, it is possible to estimate consistently those parameters of the
process which express the dependence of proximate elements of the sequence.
If one is prepared to make sufficiently strong assumptions about the nature of
the process, then a knowledge of such parameters may be all that is needed for
a complete characterisation of the process.

Moving Average Processes

The gth-order moving average process, or MA(q) process, is defined by the
equation

(3) y(t) = poe(t) + pae(t — 1) + - + pget — q),

where e(t), which has E{z(t)} = 0, is a white-noise process consisting of a
sequence of independently and identically distributed random variables with
zero expectations. The equation is normalised either by setting po = 1 or by
setting V{e(t)} = 02 = 1. The equation can be written in summary notation
as y(t) = p(L)e(t), where u(L) = pio + p1 L + - - - 4 pg L7 is a polynomial in the
lag operator.

A moving-average process is clearly stationary since any two elements y;
and ys represent the same function of identically distributed vectors e; =
[et, €15, €1—q) and €5 = [e5,€5-1,...,65—¢) . In addition to the condi-
tion of stationarity, it is usually required that a moving-average process should
be invertible such that it can be expressed in the form of u='(L)y(t) = &(t)
where the LHS embodies a convergent sum of past values of y(¢). This is an
infinite-order autoregressive representation of the process. The representation
is available only if all the roots of the equation pu(z) = po+p12+-- -+ 22 =0
lie outside the unit circle. This conclusion follows from our discussion of partial
fractions.

As an example, let us consider the first-order moving-average process which
is defined by

4) y(t) =e(t) —0e(t — 1) = (1 — OL)e(t).
Provided that |f] < 1, this can be written in autoregressive form as
£() = (1—01)"y(t)

={y(t)+0y(t — 1)+ y(t —2) +--- }.

Imagine that |6] > 1 instead. Then, to obtain a convergent series, we have to
write

(6)

()

y(t+ 1) =ce(t+1) —0e(t)
=—0(1 - L7/0)e(t),
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where L™ 'e(t) = e(t + 1). This gives

et)=—-0"11-L71/0) yt+1)

Q =—0"Hy(t+1)/0+yt+2)/0*+yt—3)/6>+--}.

Normally, an expression such as this, which embodies future values of y(t),
would have no reasonable meaning.

It is straightforward to generate the sequence of autocovariances from a
knowledge of the parameters of the moving-average process and of the variance
of the white-noise process. Consider

Vr = E(Yiyi—r)

— E{ > piE-i Y /ijtfffj}
i J
= Z Z pit; E(et—igr—r—j).
i

Since (t) is a sequence of independently and identically distributed random
variables with zero expectations, it follows that

0, ifi#71+7;
9 E(ei—ict—r—j) =

Therefore

(10) Ve =02 Y Wikt
i

Now let 7 =0,1,...,q. This gives

Yo = 02(ug +pd + o+ ),
(11) Y1 = 0?(#0#1 + papa + o flg—1htg)s
Yq = U?NONW

Also, v, =0 for all 7 > q.
The first-order moving-average process y(t) = e(t) — 6e(t — 1) has the
following autocovariances:
Yo = Jg(l + 92)7
(12) Y1 = —039,
¥=0 if 7>1.
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Thus, for a vector y = [y1, ¥, -..,yr|" of T consecutive elements from a first-
order moving-average process, the dispersion matrix is

1+6* -0 0o ... 0

-6 1+6* -0 ... 0

(13) D(y)=o2| 0 -0 1+6* ... 0
0 0 0 I

In general, the dispersion matrix of a gth-order moving-average process has ¢
subdiagonal and g supradiagonal bands of nonzero elements and zero elements
elsewhere.

It is also helpful to define an autocovariance generating function which is a
power series whose coefficients are the autocovariances -, for successive values
of 7. This is denoted by

(14) v(z) = Z%zT; with 7={0,£1,£2,...} and -~ =~v_,.

The generating function is also called the z-transform of the autocovariance
function.

The autocovariance generating function of the gth-order moving-average
process can be found quite readily. Consider the convolution

(=) = 3wt Y e
w B3 e
= Z (ZMiMj+r)ZT7 T=1-].

By referring to the expression for the autocovariance of lag 7 of a moving-
average process given under (10), it can be seen that the autocovariance gen-
erating function is just

(16) Y(z) = o2pu(z)u(z"").

Autoregressive Processes

The pth-order autoregressive process, or AR(p) process, is defined by the
equation

(17) aoy(t) +ary(t — 1) + - - + apy(t — p) = ().
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This equation is invariably normalised by setting ag = 1, although it would
be possible to set 02 = 1 instead. The equation can be written in summary
notation as a(L)y(t) = &(t), where a(L) = ag + onL + -+ + a, LP. For the
process to be stationary, the roots of the equation a(z) = ag + a1z + -+ +
oapzP = 0 must lie outside the unit circle. This condition enables us to write
the autoregressive process as an infinite-order moving-average process in the
form of y(t) = a1 (L)e(t).

As an example, let us consider the first-order autoregressive process which
is defined by

e(t) = y(t) — ¢y(t — 1)
= (1 =oL)y(t).

Provided that the process is stationary with |¢| < 1, it can be represented in
moving-average form as

y(t) = (1-oL)"'e(t)
={e(t)+ ¢e(t — 1)+ ¢%c(t —2) +--- }.

(18)

(19)

The autocovariances of the process can be found by using the formula of (10)
which is applicable to moving-average process of finite or infinite order. Thus

Vr = E(Yeyr—~)

{Z¢ Et— ZZijEtf'rfj}
—ZZ¢> ¢ E(er—itr—rj);

and the result under (9) indicates that

V=02 SO
J

(21)

_ o

1-¢2

For a vector y = [y1,y2,...,yr) of T consecutive elements from a first-order
autoregressive process, the dispersion matrix has the form

1 O

2 (;52 1 ¢ . (b;*i
22 Dly)=—=—-1| ¢ ¢ L 9
(22) (y) == z| ' o .
¢T.71 ¢T'72 (bT.f.?) . 1
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To find the autocovariance generating function for the general pth-order
autoregressive process, we may consider again the function a(z) = ), a;2".
Since an autoregressive process may be treated as an infinite-order moving-
average process, it follows that

2
o
23 z) = ————.
( ) fY( ) a(z)a(z*l)
For an alternative way of finding the autocovariances of the pth-order process,
consider multiplying . o;y;—; = € by y;—- and taking expectations to give

(24) Z GE(y—iyi—r) = E(ei—r).

Taking account of the normalisation cg = 1, we find that

o2, if =0
(25) Elewi—-) =

=)

0, ifr>0.

Therefore, on setting E(y;—;yi—r) = V-—i, equation (24) gives
2 .

oz, if 7 =0;

(26) AiYr—i = :
zi: TN lo, ifr>o.

The second of these is a homogeneous difference equation which enables us to
generate the sequence {vp, Ypt1s-- .} once p starting values 7o, 71, .. . , Yp—1 are

known. By letting 7 = 0,1,...,p in (26), we generate a set of p 4+ 1 equations
which can be arrayed in matrix form as follows:

Yo M Y2 e Y 1 o?

71 7o Tp-1 (03] 0
(27) T2 M Yo e Yp-2 | =0

Yo VYp—-1 Vp-2 .- 70 Qp 0
These are called the Yule-Walker equations, and they can be used either for
generating the values 9,71, .. .,7, from the values a1, ..., ap, 02 or vice versa.

Example. To illustrate the two uses of the Yule-Walker equations, let us
consider the second-order autoregressive process. In that case, we have

72
Yo M V2 g az ay ag 0 0 M
M % M a1 | =0 a ar ay O Yo
(28) Y2 Y1 Yo %) 0 0 a a1 ap 7
V2
(7)) (5] [6%) Yo O'g
=|lar ag+tax 0 1| =10
Qo aq Qo V2 0
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Given oy = 1 and the values for vy, 71,72, we can find ¢2 and a1, as. Con-
versely, given ag, a1, as and o2, we can find vp,71,72. It is worth recalling at
this juncture that the normalisation o2 = 1 might have been chosen instead
of ap = 1. This would have rendered the equations more easily intelligible.
Notice also how the matrix following the first equality is folded across the axis
which divides it vertically to give the matrix which follows the second equality.
Pleasing effects of this sort often arise in time-series analysis.

Autoregressive Moving Average Processes

The autoregressive moving-average process of orders p and ¢, which is
referred to as the ARMA(p, q) process, is defined by the equation

(20) aoy(t) +ary(t —1) + -+ apy(t — p)

= /L()E(t) + Mlg(t — 1) + -+ MqE(t — q).
The equation is normalised by setting y = 1 and by setting either po =1
or 2 = 1. A more summary expression for the equation is a(L)y(t) = u(L)e(t).
Provided that the roots of the equation a(z) = 0 lie outside the unit circle,
the process can be represented by the equation y(t) = a=*(L)u(L)e(t) which
corresponds to an infinite-order moving-average process. Conversely, provided
the roots of the equation p(z) = 0 lie outside the unit circle, the process can
be represented by the equation u~!(L)a(L)y(t) = £(t) which corresponds to an
infinite-order autoregressive process.

By considering the moving-average form of the process, and by noting the
form of the autocovariance generating function for such a process which is given
by equation (16), it can be seen that the autocovariance generating function
for the autoregressive moving-average process is

_ 2 )
(30) ’Y(Z) - EOZ(Z)O((Z_l)'

This generating function, which is of some theoretical interest, does not
provide a practical means of finding the autocovariances. To find these, let us
consider multiplying the equation ), a;ys—; = >, pi€i—i by y:—r and taking
expectations. This gives

(31) Zai'yi—T = Zﬂi(Si_T’

where v,_; = E(y1—iy1—-) and 6;—. = E(e4—;yt—,). Since ¢_; is uncorrelated
with y;_, whenever it is subsequent to the latter, it follows that §;_, = 0 if
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7 > 4. Since the index 4 in the RHS of the equation (31) runs from 0 to g, it
follows that

(32) Z a;vi—r =0 if 7>4¢q.

Given the ¢+ 1 nonzero values dg, d1, . . ., 04, and p initial values yp, v1,...,7p—1
for the autocovariances, the equations can be solved recursively to obtain the
subsequent values {v,, Yp+1,---}-

To find the requisite values do, 01, . . . , 04, consider multiplying the equation
Yo li—i =y, Hi€¢—; by €4, and taking expectations. This gives

(33) Z i, = ,U“ro'?a
i
where §,_; = E(yi—ie1—-). The equation may be rewritten as

(34) i ;a_)

and, by setting 7 =0, 1,..., ¢, we can generate recursively the required values

30,01, ..., 0q.
Example. Consider the ARMA(2, 2) model which gives the equation
(35) QoY + a1Yi—1 + QaYi—2 = Mot + H1E4—1 + HU2E¢—2.

Multiplying by v:, y:—1 and y;_o and taking expectations gives

Yo 1 2| | o do 01 2| | o
(36) T Y% M a1 | =10 60 61| |m
Yo 1 Yol |2 0 0 do| [ pe

Multiplying by €4, €;—1 and £, and taking expectations gives

50 0 0 (67 Jg 0 0 Ho
(37) (51 50 0 aq = 0 0’3 0 H1
52 (51 (50 (65) 0 0 0‘3 175
When the latter equations are written as
ag 0 0 do Ho
(38) a1 Qo 0 61 = O'? M1 s
Qg Qa1 Qo P 2
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they can be solved recursively for dp, d; and do on the assumption that that
the values of ag, ay, as and ag are known. Notice that, when we adopt the
normalisation ag = po = 1, we get dp = o2. When the equations (36) are
rewritten as

Qo a1 Q2 Yo Ho M1 M2 do
(39) ar agtax 0 1| =|pw p2 O o |,
Q2 oy Qo Yo we 0 0 da

they can be solved for vp, 71 and 2. Thus the starting values are obtained
which enable the equation

(40) agYr +a1Yr—1 a2y, 2 =0; 7>2

to be solved recursively to generate the succeeding values {~s, 74,...} of the
autocovariances.

Minimum Mean-Square Error Prediction

Imagine that y(t) is a stationary stochastic process with E{y(t)} = 0.
We may be interested in predicting values of this process several periods into
the future on the basis of its observed history. This history is contained in
our so-called information set. In practice, the latter is always a finite set
{YtsY1—1, ..., Y1—p} representing the recent past. Nevertheless, in developing
the theory of prediction, it is also useful to consider an infinite information set
{Yt,y1=1,.- -, Yt—p, ...} representing the entire past.

We shall denote the prediction of 344, which is made at the time ¢ by
Ut4+m]|t OF bY Jerm When it is clear that we a predicting m steps ahead.

The criterion by which we usually judge the performance of an estimator or
predictor § of a random variable y is its mean-square error defined by E{(y —
§)?}. If all of the available information on y is summarised in its marginal
distribution, then the minimum mean-square error prediction is simply the
expected value E(y). However, if y is statistically related to another random
variable z whose value we can observe, and if we know the form of the joint
distribution of z and y, then the minimum mean-square error prediction of y
is the conditional expectation E(y|z). We may state this proposition formally:

(41) Let § = g(z) be the conditional expectation of y given x which
is also expressed as §§ = E(y|r). Then we have E{(y — §)?} <
E{(y — m)?}, where 7 = 7(x) is any other function of z.

Proof. Consider

BE{(y—m)*} = El{(y — ) + (5 — m)}*]
= E{(y—9)*} +2E{(y - 9)(§ — ™)} + E{(§ — 7)*}

9
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In the second term, we have

E{(y—§)( —m)} = / / (v — 9)(5 — m)f ()

Y

- [{ Jw- k)0 |- )1 (2)0s
=0.

(43)

Here the second equality depends upon the factorisation f(z,y) = f(y|z)f(x)
which expresses the joint probability density function of = and y as the product
of the conditional density function of y given x and the marginal density func-
tion of x. The final equality depends upon the fact that [(y — ) f(y|z)dy =
E(ylz) — E(ylz) = 0. Therefore E{(y —m)*} = E{(y — §)*} + E{(§ — 7)*} >
E{(y — 9)*} and our assertion is proved.

We might note that the definition of the conditional expectation implies
that

E(zy) = /x / vy f(z,y)0yox

(44) :/w:cy{/yyf(ylw)ay}f(w)am
B(zi).

When the equation E(zy) = E(zj) is rewritten as

(45) El{z(y—19)} =0,

it may be described as an orthogonality condition. This condition indicates
that the prediction error y — g is uncorrelated with x. The result is intuitively
appealing; for, if the error were correlated with z, we should not using the
information of x efficiently in forming .

The proposition of (41) is readily generalised to accommodate the case
where, in place of the scalar z, we have a vector © = [r1,...,z,]. This gen-
eralisation indicates that the minimum-mean-square-error prediction of yiym,
given the information in {y:,yi—1,...,y—p} is the conditional expectation
E(Yttmlye; ye—15- - Yt—p)-

In order to determine the conditional expectation of ysi.,, given {ys, yi—1,

. Yi—p}, we need to known the functional form of the joint probability den-
sity function all of these variables. In lieu of precise knowledge, we are often
prepared to assume that the distribution is normal. In that case, it follows that
the conditional expectation of y;4n, is a linear function of {y:, yt—1,...,yt—p};

10
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and so the problem of predicting y;y,, becomes a matter of forming a linear
regression. Even if we are not prepared to assume that the joint distribu-
tion of the variables in normal, we may be prepared, nevertheless, to base our
prediction of y upon a linear function of {y;, ¥1—1,...,%—p}. In that case, we
satisfy the criterion of minimum mean-square error linear prediction by forming
Uttm = > @jYi—j+1 from the values ¢1, ..., ¢p41 which minimise

p+1 )
E {(yt+m - gt+m)2} = E{ (yt+m - Z(bjytfﬂ»l) }
j=1
=7 — 2 Z¢j“/m+j—1 + Z Z¢i¢j'7’ifjo
J i g

(46)

This is a linear least-squares regression problem which leads to a set of p 4+ 1
orthogonality conditions described as the normal equations:

p
E{(Yem = Jerm)Ye—j+1} = Ymtj1 — Y OiYiej
=1

=0 ; j=1,...,p+1

(47)

In matrix terms, we have

Yo M - Yp o1 Ym

Y% - Ypet 2 Ym+1
(48) ST ="

Y Yp—1 - Y0 Gpr1 Ymp

Notice that, for the one-step-ahead prediction of y;y1, these are nothing but
the Yule-Walker equations.

Forecasting with ARMA Models

So far, we have avoided making any specific assumptions about the nature
of the process y(t) other than that it can be represented by an infinite-order
moving average. We are greatly assisted in the business of developing practical
forecasting procedures if we can assume that y(¢) is generated by an ARMA
process such that

(49)

We shall continue to assume, for the sake of simplicity, that the forecasts
are based on the information contained in the infinite set {ys, y¢+—1, ..., Yt—p, ...}

11
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comprising all values that have been taken by the variable up to the present
time ¢. Knowing the parameters in ¢ (L) enables us to recover the sequence
{et,€t-1,€t—2,...} from the sequence {ys, y¢+—1,¥yt—2,...} and vice versa; so ei-
ther of these can be regarded as our information set.

Let us write the realisations of equation (49) as

m—1 00
(50) Yerm = O $ictim—i+ D Vitym—i-

1=0 i=m

Here the first term on the RHS embodies disturbances subsequent to the time
t when the forecast is made, and the second term embodies disturbances which
are within the information set {e;,e4_1,&¢—2,...}. Let us now define a forecast-
ing function, based on the information set, which takes the form of

(51) Jegm = Y PiEtym—i-

Then, given that £(t) is a white-noise process, it follows that the mean square
of the error in the forecast m periods ahead is given by

m—1 oo
(52) E{(yem = Germ)’y = 02 D07 +02 Y (i — pi)*.

Clearly, the mean-square error is minimised by setting p; = ;; and so the
optimal forecast is given by

(53) Ytpm = Z Yi€ttm—i-

i=m

This might have been derived from the the equation y(t +m) = ¥(L)e(t +m),
which generates the the true value of y;y,, simply by putting zeros in place of
the unobserved disturbances €;11,€¢42, ..., &1, Which lie in the future when
the forecast is made. Notice that, as the lead time m of the forecast increases,
the mean-square error of the forecast tends to the value of

(54) Viyt)} =02 o

which is nothing but the variance of the process y(t).

We can also derive the optimal forecast of (45) by specifying that the
forecast error should be uncorrelated with the disturbances up to the time of
making the forecast. For, if the the forecast errors were correlated with some
of the elements of our information set, then, as we have noted before, we would

12
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not be using the information efficiently, and we could not be generating opti-
mal forecasts. To demonstrate this result anew, let us consider the covariance
between the forecast error and the disturbance €;_;:

E{(Ytsm — Gram)er—i} = O Um-kE(ersher—i)
k=1
+ Z(l/)mﬂ' — Pmtj) E(Et—j€1—i)
=0

J

= 0? (wm+i - Pm+i)~
Here the final equality follows from the fact that

2
=)

0, ifij.

oz, ifi=y,

(56) E(er—jee—i) = {

If the covariance in (55) is to be equal to zero for all values of ¢ > 0, then we
must have p; = ¢; for all 4, which means that our forecasting function must be
the one that we have already specified under (53).

It is helpful, sometimes, to have a functional notation for describing the
process which generates the m-steps-ahead forecast. The notation provided by
Whittle (1963) is widely used. To derive this, let us begin by writing

(57) y(t+mlt) = {L-"9(L)} (t).

On the LHS, we have not only the lagged sequences (t),e(t — 1),... but also
the sequences e(t +m) = L™ ™e(t),...,e(t +1) = L7 te(t), all of which are
associated with negative powers of L. Let {L~™ (L)} be defined as the part
of the operator containing only positive powers of L. Then we can express the
forecasting function as

9t + mlt) = (L7 p(L)} ()
(58) _ {wm} 1

T ——y(t).

+ (L)

The Forecasts as Conditional Expectations

We have already seen that we can regard the optimal (minimum mean-
square error) forecast of y;4,, as the conditional expectation of y;1,, given the
values of {e;,e1—-1,6¢—92,...} or {ys,¥t—1,Yit—2,...}. Let us denote the forecast
by Gt+m = Eir(yi+m) where the subscript on the operator is to indicate that

13
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the expectation is conditional upon the information available at time t. On
applying the operator to the sequences y(t) and &(t), we find that

Ei(yesr) =04k 3 k>0

E _4) = o ’ ] > 0
(59) + (Yt J) Yt—j J =z

Ei(et1x) =0 ; k>0

E; 5t—j) =¢e5 ; Jj=0.

(60)

In practice, we may generate the forecasts using a recursion based on the
equation

y(t) = —{aay(t — 1) + agy(t —2) + -+ apy(t —p)}

(1) F ptoe(t) + sl — 1) o + el — g).

By taking the conditional expectation of this function, we get

(62) Utpm = —{Q1Pt4m—1+ -+ Utym—p}
+ fim€t + -+ MUGEm—q When 0<m <p,q,
(63) ?jt-‘:—m = _{O‘lgt-‘rm—l + o+ apyt+m—p} it g<m<p,
(64) Upm = —{ 10t 4m—1+ -+ Qlttm—p}
+ pmer + - F pgEtim—q i p<m<gq,
and
(65) gt+m = *{algt—&-m—l +-- Oépgt—&-m—p} when p,qg < m.

We can see from (65) that, for m > p,q, the forecasting function becomes a
pth-order homogeneous difference equation in y. The p values of y(¢) from
t =r =max(p,q) tot =1 —p+ 1 serve as the starting values for the equation.

14
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The behaviour of the forecast function beyond the reach of the starting
values can be characterised in terms of the roots of the autoregressive operator.
We can assume that none of the roots of a(L) = 0 lie inside the unit circle. If all
of the roots are less than unity, then g4, will converge to zero as m increases. If
one of the roots of «(L) = 0 is unity, then we have and ARIMA(p, 1, ¢) model;
and the general solution of the homogeneous equation of (65) will include a
constant term which represents the product of the unit root with an coefficient
which is determined by the starting values. Hence the the forecast will tend to
a nonzero constant. If two of the roots are unity, then the the general solution
will embody a linear time trend which is the asymptote to which the forecasts
will tend. In general, if d of the roots are unity, then the general solution will
comprise a polynomial in ¢ of order d — 1.

The forecasts can be updated easily once the coefficients in the expansion
of (L) = u(L)/a(L) have been obtained. Consider

Ut+1)+m = {¥mer1 + Vmy16t + Ymj2ei—1+ -} and

(66) .
Ut (m+1) = 1¥my16t + Ymyocs—1 + -}

The first of these is the forecast for m periods ahead made at time ¢ + 1 whilst
the second is the forecast for m + 1 periods ahead made at time . We can
easily see that

(67) Yer1)+m = Jtr(mr1) T VmEtt,

where €441 = Yr+1 — Y41 is the current disturbance at time ¢ 4+ 1. The later is
also the prediction error of the one-step-ahead forecast made at time ¢.

Example. Consider the AR(41) process. We have
(68) y(t+m) =gyt +m—1)+¢e(t +m).
On applying the operator E; to this equation we obtain the following:

gt +1) = ¢y(t)
gt +2) = ¢yt +1) = ¢°y(1)

gt +m) = og(t +m — 1) = ¢"y(t).

Given that y(t) = e(t)/(1—¢L) = {e(t) + pe(t — 1)+ p*c(t —2) +- - -}, it follows
from (44) that

(70) E{(Ytsm — t1m)*} = 02 {1 + 7+t + -+ ¢2(m_1)} .
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As m — oo, this tends to 02/(1 — ¢?) which is just the variance of the AR(41)
process.

Example. (Ezponential Smoothing). A common forecasting procedure is expo-
nential smoothing. This depends upon taking a weighted average of past values
of the time series with the weights following a geometrically declining pattern.
The function generating the one-step-ahead forecasts can be written as

L=
=(1-0){y(t)+ 0yt —1)+ Pyt +2)+---}.

B+ 1) =

(71)

On multiplying both sides of this equation by 1 — 6L and rearranging, we get

(72) gt +1) = 05(t) + (1 = 0)y(1),

which shows that the current forecast for one step ahead is a convex combina-
tion of the previous forecast and the value that actually transpired.

It is possible to show that the method of exponential smoothing corre-
sponds to the optimal forecasting procedure for the ARIMA(0,1,1) model
(1 =L)y(t) = (1 —0OL)e(t). To see this, let us consider the ARMA(1,1) model
y(t) — dy(t — 1) = e(t) — Oe(t — 1). This gives

gt +1) = oy(t) — 0=(t)

= ou(t) - 0500y )

73 _ _(1—

(73) _{a 9L)1¢_9(L1 ¢L)9}y<t)
=D

On setting ¢ = 1, which converts the ARMA(1,1) model to an ARIMA(0,1,1)
model, we obtain precisely the forecasting function of (60).
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